Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

GS1826-24_0OP09657_W1_NO02_200s.txt / MJID 51780.327464 / burstid=1218

| Grey line: exponential fit Peak flux: 4.002+/- 1.069 c/s/cm? |
| Black line: power law + gauss fit Fluence : 69.06+/- 22.85 c/cm? ]
Dashed line: power law o ’ )
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; Power law fit é
E Power law index: -0.699+/- 0.248 (chi*-red= 1.01) =
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—  Power law fit plus Gaussian (st.dev.= 35.50+/- 4.71 s, fracgs= 10.48+/- 36.38) =
= Power law index: -1.777+/- 5.712 (chi’*-red= 0.99) 3
E b ¥ D .
SE Mt et S i b b ittt St b
- g i H: Ay *ﬁﬂHWWM LU Tt ﬁ* iy #W i Hﬂﬁﬂﬂmﬂ%
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L E
0 100 200 300

Time [s]



